TR 244ERE B R OB |

A Epg244E 48 1H
I OERE264E 3H31H

HEFEN BERT=F 274 —4 A b7
1. EEDER

(1) sEasmimEsss Pali24F sH26H0 (1) P ot 5
WHisEb@EERRE  TRk24F 5A26H (1) B RIS
(2) #E3eEImFHMWE L  TH2E 2230 () B R
HIsENEA R ERk26F 2A23H (1) B REPEES R

2. EEDE

(1) RT7 v F o274~ AT 72 AT 4 200vindiH
(BOEEET~F T4~ A T 7o AT 4 SNVEHRE)
PRE2AESA LTH (4) ~ 8H19H (H) W o B TS A UL
(2) BBEIBARTRAE—AF—T A THp 7
WRE2sE2H 9B () ~ 2H11A(H - #) B B ER—~
{(3) H29l] haFFOFEA—FT AN TF S
WR2OEIH2TE (K) ~ 3A30R (L) B HOUE RS
(4) FaZEBEGD LOREIC LD baFaI anT g a - OER
(5) JAODR—L—UERITHA LA HIESESE
{(6) byrE HmerhERSES S ~o&m - %)
{(7) NPOWRT<F 2744 A b THEEE O - h7
(8) RAYT=FaTd—bA LT HU L% - i)




TR 244E B2

HEEAN BAT v FaTd— 287w

R x ¥ & &
B P44 48 1B
£ ERK26F 3A3LE
(Hifz: 1)
B H Sig |erERCTRE] B i #
1. BEIBHMA
A BEE IR (150,000) (150,000)
R B BRI A 150,000 150,000 O HTEST R
B (9,340,000)1 (9,110,000) (230,000
NS A 60,000 30,000 30,000| 264
E=EAL VN 6,900,000 6,800,000 100,000]1 38 f&
BB EBINA 2,380,000] 2,280,000 100,000 (29 #, 1{E.A
HERA (16,360,000} [ (16,060,000) (300,000)
ST 2ATAN VERFEIA 7,100,000 6,800,000 300,000 [ Ad5 st Skl LR 8t
F ARy L H A 4,500,000] 4,160,000 340,000 | 0%t
wAZ—AXvSE R 1,760,0000 1,920,000 A 160,000 B0k, 1558
INERIEEN R 3,000,000 3,180,000 A 180,000\ TCCBi#
TN (28,890,000) | (39,200,000)| (A10,310,000)
HGARFEMEMER A 5,500,0000 4,000,000 1,500,000 | B 1%
REHBh &I A 23,390,000]  35,200,000] A 11,810,000|~3% S @B, BAZEHE,
HAF 92— 2 HEL i
HEILA (320,000) (320,000) (0)
SE AR A 20,000 20,000 0
HELA 300,000 300,000 OB aR
g% 3 @ I A FH| 55,060,000] 64,840,000 A 9,780,000
[¥E5E]
A A IR AR Y
(B AR ALY




B E T HE E AEETREAE  E MW 1 &
2. BEFRETH
A (42,700,000) | (52,950,000)| (A10,250,000)| 34t s K5
FRETE R Ee N 970,000 1,040,000 A 70,000
R AR T H 7,200,000 5,910,000 1,290,000
AN 590,000 1,350,000 A 760,000
TR AZ A S 15,490,000 13,460,000 2,030,000
T A 2,030,000 2,090,000 A 60,000
HRAEIE 1,670,000 1,020,000 650,000
FTRRIEL A 3 1,750,000 880,000 870,000
=iz S 3,480,000 6,700,000 A 3,220,000
PrigEB R 160,000 60,000 100,000
FHEATE S 8,480,000 8,080,000 400,000
TR 2 100,000 0 100,000
T BRI 0| 11,520,000  A11,520,000|WiFEidak s B+ —Rbb
Hes 780,000 840,000 A 60,000
EEE N (15,890,000)] (15,770,000) (120,000}
i B ¥REN = H 3,600,000 3,600,000 0
Fakh Y3 3,800,000 3,700,000 100,000
BT 1,050,000 1,060,000 A 10,000
TR A mE N 1,600,000 1,600,000 0
H{F R N 500,000 500,000 0
T S 600,000 580,000 20,000
P S A 2 = H 210,000 200,000 10,000[20124FRRJAO & #H
WEUKEIE 240,000 240,000 0
BEREUN 3,250,000 3,250,000 0
PREEI S 60,000 60,000 O|Fr @Ryt
HHEATRE H 180,000 180,000 0
At 37 (Y 800,000 800,000 0
O OB XM OE 58,590,000{ 68,720,000 120,000
MO Y K O4E | A 3,530,000 A 3,880,000 350,000
B HR A v o7 SE %H 6,764,487] 10,644,487 A 3,880,000
o b BRI 3 25 ZH 3,234,487 6,764,487 A 3,530,000




